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reg wage points rebounds assists

Source 55 df M5 Number of obs = 269
F(3, 265) = 80.07

Model 127366839 3 42455812.8 Prob » F = B, eaaa
Residual 148512873 265 538234.253 R-squared = B.4755
Adj R-squared = @.4695

Total 267878917 268 999548,197 Root MSE = 728.17
wage | Coefficient 5td. err. t P>t [95% conf. interwal]
points 81.19369 11.56929 7.82 B.eea 58.41426 183.9731
rebounds 92.23682 19.911 4,83 B.eea 53.83213 131.4399
assists 24, 34695 26.98747 .98 B.368 -28.79821 77.4841
_cons 13@.2154 96.568168 1.35 B.178 -59.,79217 328,223




